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(£ 10.2-1] AIME A2l % M4 B2 =Y
s = HE 13 | ae S 5
HCPEEE 7H_:Xﬂ% a B e 2 g Tee Aas wA
2 (m) (m) (m) 012) | 012 | 012 | (ha)
%l 524 |180174| 186 |32,109] 21 |3,898| 688 | 413 | 440 |1,862|876.98
7= 2 99 7 (11,091 - - 1 - 3 - 1.49
01-01] & 2 99 7 11,091 - - 1 - 3 - 1.49
il 60 |17,844| 29 (4,802 2 328 | 48 39 53 79 |163.98
02-01] &4k 13 |5,006| 10 |1,791| - - 8 25 9 |40.45
02-02 AFH 2 350 3 279 - - 3 - 5 1.33
02—03] A 13 |[3,443| 4 445 2 328 9 17 6 4 |18.94
02-04| <HIA 7 13,086 2 681 - - 5) - 7 5 |50.97
02-05] HEud 4 13,454 - - - - 6 2 10 7 145.28
02-06, Ak 7 665 1 59 - - 2 3 - - 0.05
02-07 =3H 7 716 1 157 - - 4 1 1 7 1.48
02—08 =%3H 3 442 7 11,294 - - 7 1 1 40 | 3.36
02—09 28| 4 682 1 96 - - 4 4 3 2.12
FA4 19 13,628 1 937 - - 21 3 27 112.00
03-01] A&H 3 [1,826| - - - - 5) - 5 - | 5.83
03-02 AFEHd 5 [6,130] 1 937 - - 9 1 19 - 15341
03-03 =& 9 13497 - - - - 5) - 3 7 |47.59
03-04| 3]&H 2 2,175 - - - - 2 2 - - 0.17
=AH 39 122,081 - - - - 59 50 76 13 [76.90
04-01] 4=H 4 11,674 - - - - 8 - 3 - | 5.85
04-02] 7F=A 4 11,618 - - - - 8 12 6 - 1.14
04-03 FTAA 5 2,131 - - - - 4 10 13 - 1.42
04-04| T4 5 2,608 - - - - 10 12 15 - 4.25
04—05 &HH 4 12,085 - - - - 4 6 8 - 7.35
04-06, FAFd 3 12,736 — - - - 2 - 8 - 6.66
04-07| AEH 6 |[6,166| - - - - 9 1 18 13 |40.97
04—-08| Ul 6 |[1,651| - - - - 7 - - | 6.90
04-09 T=H 2 1412 - - - - 7 9 4 - 2.36
€4 61 |15,852| 44 |5608, 8 |1,660| 102 | 74 37 | 632 [127.89
05-01 F=H 5 |1,455] - - - - 5 1 1 6 |13.13
05—-02 A 3 990 - - - - 7 1 1 19 |17.22
05-03] H=1x - - 1 165 - - 4 2 - 51 | 3.49
05-04) HFH 5) 907 2 234 - - 9 3 3 35 | 7.37
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< (m) (m) (m) (D) | D) | O14) | (ha)
05-05| A=2d | 4 | 646 | 6 |1,087| - - | 11 | 14 | 4 | 30 |5.62
05-06 E¥ 3 [279] 8 |652| - - 6 2 | 115 | 1.85
05-07 A4 3 11,146 4 | 461 | — - 3 3 3 |11.29
05-08 73 2 260 | 1 63 | — - 1 4 - | 22 |1.25
05-09 95 5 11,628 - — -~ - 5 11 | - | 41 | 781
05-10] FW® | 4 1,288 3 [ 295 | 1 | 183 | 5 3 6 16 | 6.17
05-11] <5 3 |679 | - - — - 5 - 1 10 | 2.32
05-12| 4134 1 | 131 | 5 | 738 | - - 2 11 1 9 | 091
05-13] A& 2 | 543 | 8 [1,009| - - |12 9 4 | 74 | 579
05—-14| ApHA 1 | 376 | 2 |33 | 1 | 154 | 3 - 2 | 45 | 3.87
05-15 &4 5 | 816 | - - - - 3 1 - | 23 |631
05-16 &1 | 2 1,043 - — - - 2 2 1 33 | 4.44
05-17| &% | 4 [532] 3 | 410 2 | 172 | 9 2 2 | 40 | 6.59
05-18] ¥ 4 11,500 1 | 161 | 4 |1,141| 8 2 4 | 36 [16.50
05-19 SA%H | 5 |1,633] - — — - 2 3 2 | 24 |5.96
ki 8 |7168| - - - - 10 1 28 2 12550
06—-01 A | 4 |1,716] - — — - 3 - 6 - | 4.09
06-02 #4x | 4 |5452| - —~ - — 7 1 22 | 2 |21.41
Aabd 79 (32,6320 2 | 533 | 2 | 664|101 | 38 | 70 | 45 [122.90
07-01 A5 6 2,827 - — -~ - 6 2 2 - | 847
07-02] A1 2 |83 | - - — - 3 1 1 1 |061
07-03 ol&d | 4 [2491] - — -~ - 7 6 5 - | 228
07-04/ ¥+ | 4 |3193] - - - - 8 5 2 - |5.80
07-05 24x | 4 |1,960| - - — - 4 - 2 - 1392
07-06] A4 5 (2406 1 | 178 | - - 9 5 4 5 117.12
07-07 A7 6 12,326 - - — - 9 6 1 | 652
07-08| %A 3 985 | - — — - 3 - 4 4 |1.31
07-09 Al 6 |1,454| - — -~ - 5 - 3 2 | 0.86
07-10] 3terd | - N — — - - N N N — -
07-11 == 3 820 | - — — - 3 - — - 131
07-12] &4k 2 1990 | - — - - 4 — 4 5 |0.87
07-13 A 2 | 693 | - — 1 | 455 | 6 1 - | 4.17
07-14| A 9 [3877] 1 |355| 1 |209 | 9 5 8 - [41.88
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[ 10.2-1] M&E A2 ¥ &suls] FdZ 7IciEaH(A1=)

- A = 1% 2% E“% = . Hi}\ =R
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(m) (m) (m) A | Gh) | Gh2) | (ha)

07—15 3P 4 223 - - - - - - - - 1.48
07-16] =48 5 |1,646| - - - - 8 3 5 3 1.30
07-17) AAA 9 (3,847 - - - - 10 6 21 9 |22.19
07-18 ==+ 3 1,054 - - - - 5) 2 2 - 1 0.02
07-19] 2lHd 2 |1,010] - - - - 2 - - 15 | 2.79
34 107 |23,865 37 |5459| 2 87 | 133 | 90 45 | 306 |53.70
0801 H=H 7 11,639| 1 95 - - 6 2 6 | 3.97
08—-02| 7-1L+3 5 (L4611 1 123 - - 2 - 6 2.37
08-03 =%HA 1 290 2 149 - - 3 1 2 - 1 0.65
08—04) HE=H 6 [1,852| 1 18 - - 10 6 5 3 3.35
08-05 2AH 6 1,908 2 247 - - 4 2 48 | 5.47
08—06, Z=&H 4 318 2 617 - - 1 1 0.29
08—07| wiE]H 9 11,690 - - - - 11 13 5 6 | 3.13
08—08| 22Fd 9 (2,322 6 |1,276| - - 10 19 2 14 | 6.76
08—09| H=H 4 360 3 814 - - 6 - 2 | 0.18
08-10| = 5 [1,068| 5 807 - - 8 2 24 | 2.47
08-11] YA 8 1,632 - - 1 53 6 - - 44 | 2.86
08-12| AFH 4 394 1 102 1 34 6 1 3 6 | 0.40
08-13| 25=H 6 849 1 52 - - 8 6 2 12 | 3.05
08—14| REAH 3 553 3 455 - - 5) - 1 6 1.35
08-15/ wHH 6 12,026| 2 229 - - 12 3 3 29 | 4.61
08—-16| == | 10 [2,484] 1 70 - - 10 17 7 28 | 7.89
08-17| o= 6 |1,828| - - - - 5) 2 5 21 | 3.33
08—18| FFAF 1 169 2 84 - - - - - 2 1002
08-19] &=H ) 826 - - - - 4 - 1 33 | 1.20
08—20| =3 1 143 2 128 - - 3 - 2 - 1025
08-21| =+ 1 53 2 193 - - 2 1 - 15 | 0.10
FEH 108 33,621] 50 |9,769| 5 562 | 145 | 93 52 | 394 [110.89
09-01| WEH 4 13,070 1 72 - - 11 9 3 61 | 5.52
09-02| 7N 9 (2,646 4 |1,669| - - 6 7 3 9.97
09—-03| H=go]H 5 [1,965| 4 745 - - 5) 6 1 2 2.84
09-04| A1 3 331 | 10 [1,636| - - 3 - 2 51 | 0.38
09—05| a14kd 5) 959 - - 1 220 6 6 1 5 2.16
09-06| AR 6 1,172 3 475 - - 4 7 1 14 | 2.15
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2 (m) (m) (m) 012) | 012 | 012 | (ha)
09-07 "= 7 13,125 2 160 - - 6 4 7 7 |11.87
09-08 E&H 2 626 1 144 - - 4 5 - 3 1.00
09-09 w"HFH 9 12,400 - - - - 7 8 9 5.88
09-10| A3+ 2 993 - - - - 5 1 2 10 | 4.48
09-11] HEH 2 451 7 12,212 — - 8 3 - 7 7.58
09-12| sk 2 654 3 438 - - 10 3 - 38 | 3.45
09-13 A=A - - 6 1,210 - - 7 - - 19 -
09-14| <2m]H 5 [1,048] 2 253 3 266 | 10 4 1 34 1 0.49
09-15 A&+ 11 (2,773 1 22 - - 7 2 1 21 | 2.87
09-16| <19 4 11,091 - - - - 8 3 3 13 | 5.63
09-17| 4=+ 2 668 275 - - 6 - - 12 | 2.25
09—-18] =H 4 618 2 432 - - 3 1 3 6 1.63
09-19| wiAl= 5 (1,992 - - - - 2 1 3 8 5.75
09-20 A& 2 1,874 - - - - 5 7 8 5 [21.64
09-21| &5+ 8 2,875 — - - - 13 8 10 46 | 9.63
09-22 <F=H 6 |1,138] - - 1 76 1 3 2 4 1.28
09-23| 4=+ 4 11,029 - - - - 4 - 2.36
09—-24| @221 1 223 3 126 - - 1 - 0.08
7torH 35 |11,402| 15 (3,836 1 88 60 24 37 | 391 |73.10
10-01] 7F4A 5 (2,348 - - - - 6 7 17 | 9.15
10-02) A 2 675 2 238 - - 3 2 27 | 3.49
10-03 34 7 11,252 1 64 - - 13 4 2 183 | 9.27
10-04) &4 2 200 5 |1,845] - - 6 - 4 10 | 0.63
10-05 +€4 5 |1,728] - - - - 5 2 3 5) 9.86
10-06, H+d 2 12,286 5 |1,311] - - 11 4 9 56 ]25.43
10-07) g 3 11,240 1 244 - - 1 9 3 8.42
10-08] =3 3 565 - - - - 2 - 25 | 2.95
10-09 FEH 6 |1,108] 1 134 1 88 10 2 1 65 | 3.90
=34 4 701 1 74 1 519 8 1 7 - 2.77
11-01] #r=A 2 52 1 74 - - 2 - 1 - 1019
11-02] ==+ 2 649 - - 1 519 6 1 6 - 2.58
A& 2 1,281 - - - - - - 5 - | 5.86
12-01) &3hd 2 1,281 - - - - - - 5 - | 5.86
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